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2. a) (рис. 87); 

б) (рис. 88); 

в) ; 

г) (рис. 89); 

д) (рис. 90);  

 

 

е) (рис. 91); 



ж) (рис. 92). 

3. а) 4,5; б) − 27/4; в) 61. 

4. а) ; 

б) (рис. 93); в) 

 

; г)  

 



(рис. 94); д) 

 

 

 

 

 

, где (рис. 95); 



е) 

. 

5. а) , где 

; 

б) ; 

в) ; где 

. 

6. а) . 

8. Положите u = xy, υ = x − 2y. 

9. a) 2π ab/3; б) 2; в) 0 и 21π a4/29. 

10. a) 18π; б) 4/3; в) 0; г) . 

11. a) (15/8 − ln 4)a2; б) π ; в) 0,5a2 ln 2.  

12. a) a2(√3− − π /3); б) a2(4 − √15− + π /2 − arccos(√15− /4)). 

13. a) a2b2/(2c2); б) 1/35; в) ab (a2 + b2)π/2; г) 3π; д) 2/3. 



14. a) π(3 ln 3 − 2); б) 2π2; в) 3/4. 

15. a) x0 = −1; y0 = 3,2; б) x0 = 4,5, y0 = −1; в) x0 = y0 = πa/8. 

16. x0 = −a/5, y0 = 0. 

17. a) Ix = ab3ρ0/3, Iy = a3bρ0/3; б) Ix = ρ0/6, Iy = 7ρ0/6 в) Ix = Iy = a4(1 − 5π/16)ρ0; г) Ix = Iy = 
3πa4ρ0/4√2−. 

18. Ix = a2b4/8, Iy = a4b2/8; б) Ix = 0,1, Iy = 13/30. 

19. pв = πa2ρ(h − (2/3)a), pн = πa2ρ(h + (2/3)a). 

20. Взяв ось x в качестве оси абсцисс, получаем 

. Так как по условию Mx = 0, то 
приходим к равенству Ix' = Ix + ma2. 

21. а) 
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б) , 

, 
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22. а) 

 



 

; 

б)  

 

 

 

; 

в) например, ; 

г) например, ; 

23. а) 0; б) 1/8. 

24. Например, 

 



. 

25. а) π /10; б) 37π /25. 

26. а) 4π /21; б) 81/40π. 

27. а) 3√3−π /5; б) 8πabc/5; в) 9/4. 

28. а) 2/3; б) 1; в) πab(a + b)/8. 

29. а) 21π /32; б) π(b − a)(b2 + ab − 2a2)/3. 

30. а) 21π / (4√2−); б) π2a3/(4√2−). 

31. а) πabc/60; б) 81/40; в) 6. 

32. а) 4πρ0; б) 128ρ0/15; в) 1408ρ0/105. 

33. а) x0 = 0, y0 = 2, z0 = 4a/3π; б) x0 = y0 = 16√3−/(15π), z0 = 2; в) x0 = 7p/18, y0 = 0, z0 = 7p 
/176; г) x0 = y0 = 0, z0 = 7/20. 

34. а) x0 = −2, y0 = 1, z0 = 4/3; б) x0 = −2, y0 =1, z0 = 2/3; в) x0 = 32/13, y0 = 16/13, z0 = 33/65. 

35. а) Ixy = (4/15)πρ0abc3, Ixz = (4/15)πρ0ab3c, Iyz = (4/15)πρ0a3bc; б) Ixy = πρ0/10, Ixz = Iyz = 
πρ0/20; в) Ixy = 81πρ0/16, Iyz = Ixz = 9πρ0/16. 

36. а) Ixy = (4/9)πρ0abc3, Ixz = (4/9)πρ0ab3c, Iyz = (4/9)πρ0a3bc б) Ixy = 75π, Ixz = 62π, Iуz = 50π. 

37. а) Ix = Iy = 0,15πρ0, Iz = 0,1πρ0, I0 = 0,2πρ0; б) Ix = Iy = πρ0a5(16 − 7√2−)/60, Iz = πρ0a5(8 
− 5√2−)/30, I0 = πρ0a5(2 − √2−)/5. 

38. 5π2ρ0/64. 

39. 

; Fy 
= 0;  



 

. 

40. a) ; б) . 

41. . 

42. . 

43. . 
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